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Luce netta (L) = Luce netta (L) + 315 =
, 250 Net clearance (L) = Net clearance (L) + 315 =
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In caso di porta senza soglia <
125 125 la parte sotto il pavimento non -
esiste
If the door is without threshold
0.00 the part under the floor doesn't
exist
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Vano (L) = Luce netta (L) + 150 =
N Space (L) = Net clearance (L) + 150 = Luce netta WL X (H) Date
gy Net clearance Ref.
= Luce netta (L) = o Tipo Esecuzione
) Net clearance (L) = w 1 Type Execution
1 Temperatura Colore
S Q Temperature Colour
< Apertura Tipo parete Sp.
Ingombro max (L) = Luce netta (L) + 250 = gger;ilgq direction \liv;r”ntlyeﬁ_ee di raccordghmk.
Encumberance max (L) = Net clearance (L) + 250 = Thr%shold Connecting plates




